B

FHTEE INFTUVEVYIRE) (B4 F)
B1T-E1558
BEEA BEME @ @ ©) OLAILE) ¢S
. HKSULEvORBOHER NTREFHOD
S B 3| &t Rt EE
g 2,380,420,065|  1,190,209,947|  1,190,209,947 4,760,839,959
KIBEAV77REEA—N 1A 666,317,041 333,158,507 333,158,507 1,332,634,055
48 252,949,423 [
2017, 2018 EERENDRIHEMICHRHE PPN
Snsamns BELLIT REA— \— LA TBOES o AREBEATHER
on YT BT R I AR IR MR OM RIEES 126,474,713 63,237,355 63,237,355 wooaaliFUEoRRl PR JUATARS
- S 235 A 282 7 ,191,356, X X ph
%%Fﬁ?éjn SEIPIAIILRBOE 1,151,356,000/ x 1/44=252,049,423F ~ |(RIRCIE2E)
 Hi%E 3,593,301 [
(3’/7_"(”/)‘“/|* LY ‘:.T.E i3] Z .~ E' E:jF_F %[ N o= to“ % o i % =
TEAFI—% | RIERE KRS SOmT A AR TR 1,796,651 898,325 898,325 3,593,301 1[;}934{0/0@/2‘(%523“3/30” gg%gﬁ.\m(%ﬁﬁ
BE) 1HF)—RBOZE 15,984,000 X 1/43=3,593,301M (BEC(1228)
X HH%E 102,039,258 [
f?}:ﬁ%??w—% ﬁ?;‘%‘?ﬁgié?é\%ﬁﬁ&j_l \—LA &R 51,019,630 25,509,814 25,509,814 102,039,258, $51) oy H13 ) 17:13(BEER%D
235,475,213 X 13/30=102,039,258
F th%E 937,259,993 [
Eigﬁiﬂﬁﬁﬁ% Bﬁigfﬁ' == g =] B —
= B LS, I+ EIB%EE Eﬁujllﬁiﬁﬂiugj— /\ L/'f Ve . i
ﬂﬁiﬁoxzxd’ )i B | B RIS R U T B2 468,629,997 234,314,998 234,314,998 937,259,993([, <51 Ly~ iR 5] 17:13 (B A%

2,162,907,678M x 13/30=937,259,993M




B

SHTEE NS YVEYIRE) (B{: M)
AT EAEEE
ER% HEHE ©) @ ® O+ 155
1B = " SREEHD
§ %[S @ E /\7U/t Jaﬁ%o)n-l'git E—&J\tt$
X H£E 509,600 A
. . 17:13(FAEBR%)
; ; EFHEHRDOREAERIAT 570, 127,400 509,600|[/ S5 EVIRE] 8, 000.18, 000
BFHORT e m BT OREE 2R BT R 254,800 127400 ! ' z,e4§,oo/qu X 13/30 X 8,000/18,000= ?&&p;&) '
509,600
X H£E 4,298,308 [
%J?E]""‘“ﬁi%d) %ﬁ@ﬁﬁﬁ?ﬁ%ﬂigg _/‘\_l/’f%ﬁ%l:?ﬁ\ .
e Mot —IN—L ATy DEHETH 2,149,154 1074577 1074577 4,298,308|[, <51, Ly 212 17:13 (BB
XA ANEM = ES AN
(BRTEERND) 9,919,174 x 13/30=4,298,308
X H%E 1,225,791 [

BN RRABFERSRA—/\—LAZFIZHH '
RRUBEOE |24 LA vIDEHLE 612,897 306,447 306,447 122579111 851wy 212 8] 17:13 (FAfER %0
? (HRTEERND) 2,828,749 x 13/30=1,225,791F

X Hi%E 1,609,737 A
IEI_‘L{'E/'Z*#“$§ @ﬁﬁ@*ﬁﬁ?ﬁ%ﬁgﬁi—/ (—Lz’f?é‘ﬁ%
Bomet 0 |IShhBF—N—L ATV DEHER 804,869 402,434 402,434 1,609,737[,551) > v o485 17:13 (BMER%D
o (FFTEEZZNS) 3,714,779 x 13/30=1,609,737H




Y

SHNTEE NS VEVIRE) (B F)
AT EAEEE
ER% HEHE ©) @ ® O+ /85
1B = " SREEHD
5§ %[S IEI E /\7U/t J7ﬁ'f:’é§0)u‘|'§it Eﬁ\ttg
T H%E 1,966,162 [
BAR B DS B AR EEERRA —/\—L A EF(H M .
S TIRERRYIRR B N—L ATV DEIETE 983,082 491,540 491,540 1966,162/[,$51)2 Ly sia ] 17:13(BER %D
? (BRTEERND) 4,537,298 x 13/30=1,966,162
X Hi%E 1,801,939 A
:ﬁo)z’% kJ:’m?i 5ﬁ®ﬁ7ktﬁﬁ?§i%ﬂi§£ —7/ i‘—l/'f?éﬁ% .
;%a)gn; PRI INBF—IN—L AT VI DEHEH 900,971 450,484 450,484 1801939/ [,¢51)s Py sig ] 17:13(FEB %)
wxa (SHTEEZHD) 4,158.323F x 13/30=1,801,939F9
%8 1,471,722 M
=R %fiﬁ?—;&i“/i_(ﬂf—‘ylf—’{ﬂiéﬁﬂ'f
K=V~ D 8%%%?%@‘75%‘6#_’\_'/4777 735,862 367,930 367,930 1471.722|[ 351 By 543 8 ) 17:13 (BB %)
&t (SFNT R 224953 3,396,283 x 13/30=1,471,722M
HHEE 1,471,722 H
SR AR BEEGEENRREA —/\—L A EHEIC
o)%i_ﬁ REE A BMBA—IN—L ATV D EIHLTS 735,862 367,930 367,930 1471722 [, 5510 By o488 17:13 (R %)
i (FFTEEZZNS) 3,396,283 x 13/30=1,471,7221




B

SHTEE NS YVEYIRE) (B{: M)
AT EAEEE
EBE4 BEME ©) ® ©) D+@+3 o
- RSULEvrBoitER | S7EERHMO
= B E5| i Rt EE
X H%E 1,637,082 [
_ %J: @ﬁiﬂéﬁﬁﬁ%?ﬂl?@%ﬁ%&#—/ \—LA
el i %1?%"75‘75‘%’7_’ ‘L AT VI DERR 818542 409,270 409,270 1637.082| [, {51y oy bz 8] 17:13 (BB %)
(SFTEREDES) 3,777,882H x 13/30=1,637,082M
X Hi%E 9,817,227 A
HiRAY R — /N —L A BB NS . ) 17:13 (B %)
BRAVEOHRS | A—N—LATVIDEHEH 4,908,615 2,454,306 2,454,306 9,817,227|[/3SVVEVIRE] ; [i’éﬁﬁ
(SHITTEE2E5)) 15,777,687 X (13/30x 2/3+1/3)= (RIRCIE2H)
9.817,227M
X Hi%E 1,825,200 A
HT—F FAT)—FREA—/\—L A BRI
s HMBA—N—L AT VI DEHETH 912,600 456,300 456,300 1,825,200([, 3512 v o428 17:13 (BB %0
(HRTEERND) 4,212,000 x 13/30=1,825,2001
X Hi%E 2,106,000 A
ﬁﬂﬂ_ _XOD?;T&@ Eﬁﬂj__:xo)ﬁﬁgﬁj\-_l §_I/’r¥1%‘:
St ININSA —IN—L AT VI DEHETH 1,053,000 526,500 526,500 2,106,000|[,<51)> oy 2 25] 17:13(BER %D
(FFTEEZZNS) 4,860,000/ x 13/30=2,106,000




B

THMRFEE NS Y2EYIES) (8ife: F)
1T - RAEEE
HE4A BEME ) @ ® O+ 0S5
. KSuvEvsBRoEt | TEREHO
E3 #N E3| E A S
% Hi%8 3,270,150 [
ﬁ:txlf—l“b ';E-;ixtc,_l:rbl4ﬁ§§j-_l §_l/’r§IE£1j%:
e T SANBF—IR—LAT VI DEHEH 1,635,076 817,537 817,537 3.270,150|[, 351~y o1 2] 17:13(FEBR %)
(S R304F 2 R#35Y) 7,546,500/ X 13/30=3,270,150F
%8 3,781,440 M
BOZHKEFERIGEDODR— A —5RED
smtepax TAMNINERIES 5o LMD, ART
~ E-=-3 %IJ —_ -
T EME (R Eﬁgﬁjﬁﬁgﬁﬁﬁgi;:j}?g;é 1,890,720 945,360 945,360 3,781440|[ <51y oy 1R E] 1713 (BB H)
M Iz ABE) | b RO RE T A B AR 8,726,400 X 13/30=3,781440F
TAEH=E,
IRILE— 1,060,843,480 530,421,696 530,421,696 2,121,686 872
K Hi%F 2,115,727,162 M
ﬂi:ﬁ@ﬁ/ﬁ%%@@%ﬁofﬁﬁbﬁﬁ HELis (2218 %1
- - IS N SV = % . J sia
{REER/ S B %;(lﬂé:ég H‘?fgﬁ?ﬁ;ﬁ?%ﬁ%{% 1057,863622|  528931770|  528931,770|  2,115727,162 5'9\5332/2591%%%)1 /45 % 13/30) + L 3(FfERH T
=38 e e 8,950,922,591F x 1/45=2,115,727,162F1  |(&3ECIL22E)
(S EITHHNIE)
S Hi%E 3,718,635 M
TNV | 2B OB AREEET=AYL T 5S R E BB wPoT
SRS, 2 ) Bk =R EWARINL s = 4 v RS E W £ z:”E :
%gﬁf/xT/.\E T LImoNT. A2 1,859,319 929,658 929,658 3,718,635 Eels,\zgo),o/oolﬂqug{%bx 18/30) 4 %ﬁg{gﬂfﬁé%?ﬁ

16,200,000 x 1/44=3,718,635H




B

SHNTEE NS VEVIRE) (BfZ:F)
BT E4E%E
HEA BEHRE ) @ ® O+2+Q 05
- RSULEvrBoitER | S7EERHMO
ES B E5] z ot
X H%E 2,241,075 A
TAMARUERUVAKRETHERTH/NE TN HESGZEFHRY
= 2 Aoap REEBREEOBALUENNLEN %53&%’5?9%73?6343 x13/30) + BC/MPCER(E R
Z “PER e A EICHERTOREEE 1,120,539 560,268 560,268 2,241,075| g apn £r — 1£)%17:13 (B R
& Gk 8,366,539 x 1/43=1,880,849F 17
ONEREEERZEOBA 1,602,390 X (20/43 x 13/30) + B TR
QENDLERDIEEREADHIE 1.602,390F9 x 1/43=360,226F (RIRCIL2H)
D+@=2,241,075M
FH/A5— 461,663,173 230,831,569 230,831,569 923,326,311
F %8 1,243,896 [
REEHW/ EHE '|'§?EE1§&UF4‘%E%’IZFﬁ"‘J‘é%{%’/Z HNERIG(2RI5)F1
BORTL KR [ TLDVRT T L—ar kR EYIIEN 7:13 (A B %) Ti®
= Sy Bl Elie . = 621,948 310,974 310,974 1,243,896| [/ 35U EVIEE]
BREESRAT LTI —ER MBEDRESE 5,542,167 x (21/45 X 13/30) +5542,115 |72 .
% ITLE K UOMEGASR D588 A M x 1/45=1,243,896 (RIRCIZ2#)
¥ H %8 643,538,061 [
AEEH/BHE /35y EYYRE] HERG (ERIF)E 1
BYRT L KRR | [Ty 2 DA I D 321,769,035 160884513 160,884,513 643,538,061| (2,972,796, 024F3105547,211F3 (/<5315 |7; 13 BMERR) T
BHERIES AT L 5V5)) x (21/45 x 13/30) + (2,972,796,024 |73
F FI-105,547.211F9 (/35% % 5443)) x 1/45 |FRIRCIERER)
=643,538,061 M (fmkALIE)
X H%E 2,840,276 [
REEH/EHE '|'§iﬁﬁﬂ1§&UE/{%E%E%T%%E‘DX HNEEIG (ELE) %1
BORTL KR [ TLDYARTLALTIL—30 KRR SULEyHE 7:13(RAtEB %) T
BHEES A7 L |70 T R, EOAEE 1,420,138 710,069 710,069 2,840,276 1[2’634'6/9%/)(‘(%%25)( 13/30) + ﬁ
% ITLE L UOMEGAS R DHEEEE A (EiRCIF2%)

12,654,699 x 1/45=2,840,276




B

SHTEE NS YVEYIRE) (B{: M)
AT EAEEE
EBE4 BEME ©) ® ©) D+@+3 o
- RSULEvrBoitER | S7EERHMO
ES B E5] z ot
T H%E 3,282,150 M
gﬁﬁﬁiﬁﬁé ITL. OMEGATRD 7 FBH - BI{EHEED ﬁgﬁ(%&é %ﬁ)ﬁ;
VAT L KRR . 0P 5 3E - B SSULEyhk 7:13 (BfE B TR
EHERES AS L | -8 DDA o R E 1,641,076 820,537 820,537 3,282,150 52’633{4/47 ﬁx%%35x13/30)+ 5 )
% 14,623 447 x 1,/45=3 282,150 (RIRCIZ2H#)
X HI%E 12,512,000 M
%‘1%1‘$$E$Jﬁ: lﬁaljyt"‘ygﬁ(-J—IJ-Hr)LF'I‘§$&-U-_t°Z‘:
R o 7 PLTHOEH#EZR(PRISTOSIIM DX 6,256,000 3,128,000 3,128,000 12512,000([,$51)> o 242 2] EX TS
i 12,512,000/
¥ H%E 16,511,108 M
e zﬁﬁ%%ﬂmmw%%ﬁ-%ﬁ&-ﬁﬁﬁ{% *’*%%F%gfﬁ)ﬁ;
=HERAR =t . . S E W 7 :13 (F ) Tk
L ANEY (S K e TRy T— DK T —4 8,255,554 4,127,777 4,127,777 16,511,108 %?5%4),3/45{5%{%25 X 13/30) 4 4 .
25— 73.564,3450 x 1/45=16.511,108% (RIRCIE2#)
X Hi%E 4,807,240 A
KAEEEE ZS'%‘EE]%%WHLAN@#E%'%&E&'EFH@ “%%F’%?ffﬁ)ﬁ;
=ERAERIT |SF . S By Hk 7:13 (R B %) TR
LANZ% RERT 2RI T—IDEF2)T4 2:403,620 1201810 1201810 4807:249 g,\ﬁs%olﬂaj Z!g{%hx 13/30) + 2)
H—EZRDIE (FIRCIZ£%8)

21,418,400 x 1/45=4,807,240M




B

SHTEE NS YVEYIRE) (B{: M)
AT EAEEE
HEHA BEHE ©) ® ©) D+@+3 o
- RSULEvrBoitER | S7EERHMO
% &R Ed B mortE
X H%E 21,862,020 M
j(AE?H?f‘*%I"'JI‘J'LANO)*%% - ERAR HERIG (2B %1
SBARER T Sk 7:13 (BB %) TR
e e j(A 5 kT — 5 DA A b 10,931,010 5,465,505 5,465,505 21,862,020 53;35{()/45 ﬁZ%%}SX 13/30) + 5 )
B4 97405045 x 1/45=21862,020F (RIRCIZ2H#)
3 H%E 80,008,616 M
X'A’EEH‘?'%‘I‘]I‘J'LAN@#%%E EERERAR HEEIG(ER5) %1
RBAFRER T 51 Bk 7: 13 (B B %) TR
ANZE qu T — Ry T —H 0T — St A — 40,004,308 20,002,154 20,002,154 80,008,616 gg gz7ﬁ333%7>f§(§)45x 13/30) +
BRIES ORARFE 356,474,033 x 1,/45=80,008,616F3 (%550'3@%5)
X H%E 2,487,751 A
chﬂﬁﬁ%r‘]h‘LANOD%%E EER-ERAR HEEIG (ERI5) %1
ALBRER T Sk 7:13 (B R &) TIR
LANE% fi thﬁiT—G* YT —ODEBER YT — 1,243,877 621,937 621,937 2481751 1[1,\034),&@4/ Zg{%ﬁwwsow 72 N
TIREFORERHE 11,084,040 X 1/45=2,487,751M (RIRCIE288)
X H%E 1,555,310
chEEH-?%r‘]HLAN(D%% BER-ERAR HNEREIG (ERIG)F1
RK=BEREMIT SN o 7:13 (BfEB %) T#%
K 777,656 388,827 388,827 1,555,310 [/ 35V EV IR E]
LANES fi j(AFﬁT—’SI*JFU IDT—HEH— ’ ' ’ R 2
DEOEE 6,929,604 x (21/45 x 13/30) 46,929,604 Gamcizamm)

M x1/45=1,555310M




B

SHMTEE NSV UVEVIRE) (i)
81T E1EEE
HEHA BEHE ©) ® ©) D+@+3 o
1B = " NSREZHD
5§ %I-S IEI §+ NT)E J7ﬁ'f:’é§0)u‘|'§it Eﬁ\ttg
X Hi%E 1,310,801 [
j(Af'a?H?f‘%I‘]l‘J'LANON%EE BER-ERR iﬁ%%%{(}f%ﬁ)%&
ERERT 1310801 |[/$5Y L EwsiEE) 7:13 (BB %) TR
LANzS ff *AFﬁT—Q* YhI—=O DTt E— 005,401 321,700 321,700 O 840,208 x (21,45 x 13/30) +5,840,208 |5 -
X fm = M x 1/45=1,310,801H (BiRCIF2%8)
% 18,371,729 M
kAFasﬁ{‘?'%‘ﬂlfLAN@#%%E CBE-ERR *‘J?;A?ﬁéfzzﬁ))%;
SERERT SV EYRE] 7:13 (BB T
N j:AHiT—’SU‘ﬁJFU DOEE2YT 4 9,185,865 4,592,932 4,592,932 18,371,729 8;’8;'2/42':4/)((;1/45)( 1330 +
H—ER 81,854.242F9 x 1/45=18,371,729F9 @2
X Hi%E 2,564,265 [
j('“EﬁPf‘%F"]H’LANd)%%E CEE-ERR ﬁ%%;%}{(}f%&%)%;
AEBABRER T 4265|1351 EvoiRE] 7:13(FAEB %) TiZ
LANES KT —5Hoh I~ oD 2T 1282138 041,008 041,00 B 424,04873 x (21,45 x 13/30) +11,42494 |2 -
H—EZ FI'x 1/45=2,564,265F (RIRCIE288)
I Hi%E 728,726 M
- MDC-EDC (T4 T AU RT /AL R AU HERS (ER5)E 1
ﬁﬁf@ﬁﬁﬁﬁ ) BETHELRIICTRIEICLE 364,364 182,181 182,181 728.726| (/35 v E v iR E] ;13(%1&5@)1&
iR S EE R 3,246,804 X (21/45 13/30) +3.246.804 | T oe o o

M x1/45=728,726 1




B

SHTEE NS YVEYIRE) (B{: M)
AT EAEEE
EBE4 BEME ©) ® ©) D+@+3 o
- RSULEvrBoitER | S7EERHMO
Z #B = B WL
T H£E 1,465,622 [
chF'aEH?%‘r‘]l’fLANON%%% - ERAR HERLIS (L2215 %E1
S ZRERIT o= 11 Lo 7 13 (BB %) TR
=n 32,812 366,40 366,40 1,465,622| (/35 EVI#EE]
LAN&Z ﬁAFﬁT—Q* YT =T DT INAAIH ! ° ° ° 6,533,00/0qux (21/45 x 13/30) 6,530,000
DAV —ER M x 1/45=1,465,622F0 (EQEC'iﬁﬁﬁ)
X H%E 25,447,582 M
xAFaﬁ%%‘r‘]l’fLAN@#E%E ‘HER-ERGR HERLIG (£215) %1
AEBABRER T $SUSEwhk 7:13 (KB %) Ti®
AN j(AJEﬁT—/SI*JF'j B4 — *JI~ 12,723,792 6,361,895 6,361,895 25,447,582 1[1338{),/320%732%)45x 13/30) + 5
Y—ERIROLERRTREFNE 113,380,320 X 1/45=25,447,582F3 @2
S Hi%E 11,489,760 M
chEQ{Tf%r‘]HLANOD%%E -HERERR HEEIG (ERIZ)E 1
AEBABRER T S E Ak 7:13 (A B %) Ti®
e e & g i * ST — B D Rk — 5,744,880 2,872,440 2,872,440 11,489,760 51\132)(50 ﬁZ%%}5x13/30)+ ﬁj\ )
BDIE 51192.000F x 1/45=11489,760F% (RIRCIE2#)
¥ H%E 38,068,847 M
AEeBEFZRERIT ([ REARYNTI—IBABEIRDYR I ﬂ%%(;%{(ffﬁ)é’;;
SBEFRER =AY 2 RS 7:13(fE ) Tk
K 19,034,425 9,517,211 9,517,211 38,068,847|[/ 35 EVIRE]
LANE i H—EADEF 169,613,680/ X (21,45 x 13/30) + (%Eﬁoliéﬁé)

169,613,680 x 1/45=38,068,847H

10




B

FTHRFE UNSUVEYIRE) ()
iT- K45
IEH4A EX S @ @ ® D+2+B e o RSEREHD
ES # & 5 /\7J/t‘J7ﬁ%o)ﬁ+§E—t R4 =
X Hi%E 4,173,847 H
TLALY—ERDTOCERRTEHD HERG(ZR15) % 1
SEREEAT gz 2,086,925 1,043,461 1,043,461 amssar|lisSuEysgs] 719 (ERRD TR
~ , R X X "
2019567 ~7H 18,596,351F x 1/45=4,173,847F (RIRCE2H)
3 Hi%8 14,805,860 M
= 1:1
o —_ S B [— 4~ ‘\ ~ NSAST
% E%%’rrﬁ%?ggi’j'“%“f‘ LRELD 7,402,930 3,701,465 3,701,465 14,805,860([, <5 1> Loy 42 28] ERSARS R -
29,611,721F x 1/2=7,402, 9309 )
X Hi%8 3233219
4:1
P
REBEFEAT |[TAMAVIRBICENT, RELLD |EfEL AU
iy N 1,616,611 808,304 808,304 3233219, ¢y ot FROV)3AM. /55
LANE fis ICTIREEDHEE RISl ) S (F547202)1 B
S o DFRRARIE, B
B0
X %8 11,017,625 A
S OE R REE— R it B 2152215 %1
WA A AZCORIEREY —EARHOTHOD 5,508,813 2,754,406 2,754,406 11,017,625 [/ 85U~ Evoig#] 713 (B R 3 TR
BERBER 49,088,430F X (21/45 % 13/30) + Deoisasm

49,088,430 x 1/45=11,017,625M

11




B

SHNTEE NS VEVIRE) (BAZ:F)
AT EAEEE
IEE% %%m% @ ® ® ®+®+® o= e pe - . /f%ﬁ%%ﬁﬂjd)
§ %l! E E_i_ /\7J/|:‘J7ﬁ%o)ﬁ+§it Eﬁ\ttg
X274 5,801,891 2,900,944 2,900,944 11,603,779
 H£E 2,808,000 [
HAN—KER | FrIPHFARMIBNTHAN—RERE . %
M®¥§§§?{ DA TN o R 1,404,000 702,000 702,000 2,808,000([,$51)s ry HiE 2] 17:13(BEAE)
6,480,000 x 13/30=2,808,000/
¥ Hi%E 8,795,779 A
B RD—=2T EHE R . ] "
KmEH DB EE IS NCDERTHE D 275 4,397,891 2,198,944 2,198,944 8.795,779|[ 351 w242 8] 17:13 (BB %)
=it 20,297,952 x 13/30=8,795,779H
R—E>rgavka—)L 861,609 430,804 430,804 1,723,217
T HEE 1,213,149 H
F—EvsRER |F—EVVREERICDELZERF—EY N W
g N glatuid i 606,575 303,287 303,287 1,213,149| /35 EV IR E] g R4y
AR THRERDERE. HMEORBER 5,256,982 x 1,ét00/(5,ooo+1,500) = HRARTE
1,213,149
X Hi%E 510,068 [
f'_%tﬁ/ IS |RA2020KREIRSM) —THEAT 51 255,034 127,517 127,517 510,068 |[/ 35U EVVRE] RN TR

- RmFORE

2,210,298F] x 1,500/ (5,000+1,500) =
510,068H

12




Y

SHTEE NS YVEYIRE) (B{: M)
AT EAEEE
IEH4A EX S @ @ ® D+2+B o
X SSUvEvoRsoER | JEREEO
ES £ = &l b a n
553 29,519,841 14,759,919 14,759,919 59,039,679
X H%F 55,257,329 M
sumpang |2 TUITATRE(T AN AR
R UARRR) R R BB ARRORE 21,628,665 13,814,332 13,814,332 55,257,329| [, {51 L w o 4855 £58/85
A 55,257,329
¥ Hi%E 3,782,350 A
?ﬁmﬁ'ﬁ‘o)gﬁ ;Egﬁ%%%??ffﬁ?@fiﬁ%ﬁt% 1,891,176 945587 945587 3,782.350|[ 551 s Ky 4885 17:13 (BB %)
8,728,500/ x 13/30=23,782,3504
BENTROAUL 329,017 164,508 164,508 658,033
¥ H%E 658,033 M
BEM-HENTE | BFERORBHEZISOVTOEMTR =11 e 17:13 (FEE )
AR A . T st 329,017 164,508 164,508 658,033|[/ VT EVI#EE] x 8, 000,718, 000
NP —F5E NAYF—=ADIAVYITA1UT EE 3,416,710 x13i/30x8,000/18,000= (RyR%)
658,033
OSRATFAYIR 134,408,376 67,204,185 67,204,185 268,816,746
FH%E 219,113,351 [
, _ - - B (33:22) TR
i’%ﬁﬁﬁﬁ?@%&ﬁié/g\"—b\;ﬁﬁﬂy (/351 IRE] 2?
- U.mm. RE. BEEETS5>—KAYDR INSYUEYIRR
ReEBEERE %47?5%@&17:%5@%%@0)5&1& 109,556,677 54,778,337 54,778,337 219,113,351 (40 997 i - 9.241m) X 1437F X 121 F = |3OBSHIH1E D
(BED) 547,783,378 M (Im 2R A0L1E) ATYT7ERALES
a 547,783,378M % 22/55 = 219113351 |z . sSik & Cinsy

13




B

SHTEE NS YVEYIRE) (B{: M)
HAT-EHEEE
HEHA BEHE ©) ® ©) D+@+3 e o T
5§ %I-S IEI E /\7J/|:‘J7ﬁ§o)ﬁ+§it Eﬁ\tt$
X H%E 11,349,575 M
BHEOER® | HHEEORLHEER. HREORLS S8 s ).
BISRDT AL\ ARER, BHEAICRID DB E D EE PR 5,674,789 2,837,393 2,837,393 11349575/ [ ,$51) s Py ot H ] 250, 735 80) T4
H1)—24 LR LD 46,816,997 x 80/330=11,349,575F )
X H%E 37,544,564 [
HEREER (G
5 E O E R 200, /35:80) Ti&H
ZomTEEE BRBOERMERRORBERR 18,772,282 9,386,141 9,386,141 37.544,564( [, $51) Ly H 1R _ ’
131,405,976 X 80/280=37,544,564F é;gi(* ')) 5088
X Hi%E 809,256 M
;gfﬁﬁﬁ?éiﬁﬁﬁxuﬁigﬁﬁﬂ(ﬂé\
iEFE“:ﬁ%%)Fnﬁé ‘:OL\—C-s X7_'_ /\}l/ — 33?§§I(33:22)—C“§
PEROOEE EINF. Noc%);ﬁ\f‘:wlil[@%%ﬁl:saa“érﬁ 404,628 202,314 202,314 809.256|[, {51~ oy 15 85 /N
WEbhEXIG 2,023,140 x 22/55=2809,256
L18TRT AN 20,675,637 10,337,815 10,337,815 41,351,267
X H%E 23,538,716 M
F AR DB
RBELTER |25 Tl EHE 20,675,637 10,337,815 10,337,815 41351267\, 451 Lo 152 Eig)(ll;gﬁé;?ﬁgi
41,351,267H F

14




